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Time . 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.

ghiarrelf ergsa 319 weet 7 g 3 ]

The figures in the margin indicate full marks.

39T F 3HF QOIS & Tak & |

Answer from all the Groups as directed.

femgar ot @vel @ J @ |
Group-A
Qs - A

(Objective Type Questions)

(g8 ¥ )

1. Select the correct alternatives of the following
questions : 2x10=20

Frafaftaa wet & wd fawew & gama =

(i) What is the meaning of .001 level of
Significance ?

SH -90/4 (Tum over)
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SH - 90/4 (2)

'Mngﬁmﬁm‘mmwmﬂﬁ%?

(@ 95% (b) 99%
4% %
(c) 99.9% (d) None ofthese
%%.%% T & F
(i) Newman-Keultestis knownas:
7Bt T ST S @
(a) Studentized range Statistics
RIURSE TR Fiferht
(b) g-Statistics
g-uifegdht  *
E} Both (a) and (b)
2t (a) T (b)
(d) None of these
T @+ T

(iii) Regression equation stands for :
icueeRieicau s
(a) y=at+bx .(b) y=ab+y
(c) y=ax+b (d) y=(axb)+(bxy)

(v) Ifthe regression coefficient is negative, then
rwillbe :
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afe afém T[T TeTTenes @) |t r @ fD.Vs.
(a) Positive (b) Negative (© Agroupaf Ve anda gt - 1T
) e @ IR s
HATcHE FOMcHF W
(c) Zero (d) Noneof these (d) Nomeof these
A i @ i i & 7

(vii) £22 Omega Squere) deals with .
Q2 (i WA} WA 2
(@) Causal relationship

(v) Path analysis is a technique to find out :
gy foveraw we wfafy 2 fomss g

(a) Direct relationship
i

A& gaY e T
i lationshi

(b) Indirect relationship \(/b)/Lmear re_ ' p

HAAY FY e

(c) Strength of association between LV. &

(c) Web-like relationship DV.

qehg et <l TE Heqay @ T P =0 & < R weE
(d) Aliofthese (d) Aliofthese

= @ wft ™ & @i

(vi) Canonical Correlation deals with : (viii) When the 1stversion of SPSSwas released ?

FANET HEAAY A HAT 8 :  SPSS %1 yuR G &4 wemfia faan v ?
(a) Onel.V.andoneD.V. {a) 1875 (b) 1968
T @A =9 3w fia = LASC IEL
(b) One I.V. and More than two D.Vs. (© 2009 (&)} 1983
e TR T @ e P R rees WG
SH - 80/
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() The curreut version of SPSS Inc is named
with : .
SPSS Inc &1 @R a& MA@ R

J(a) BM (b) TCS
rrdafiey Aty
o HP d) Nor2ofthece
T fl 3 A F3 T

69 Analysis of Variance (! \NOVA) technique was

developedby:
e e (wvn) SR & :
@ R.A.Fisher (b) KariPearson
| 3wt fEK I,’r Fret A
€ W.S.Gossett | (d) Noneofthem
TR @Rz AT
Grou P -B
vl -9
(Shart-answer ' Type Questions)
(g~ swiva w)
Answer any four guestions of the following :

Rl an Tl F I d 5x4 = 20

2 Endagenous and Enogenous variables.
ey TR IRy w |

SH-90/4 (5) (Tum over)
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Concept of newman-keul test.

li3-age T @I
Differentiate between traditional multivariate
model and modermn multivariate model.

Qo AgfaverT g Ay agfareram & 4=
T TE H |

Explain the various models of regression.
e % fafira isea Y s w1
Explain the assumptions of simple linear
regression.
@ et ghrma Y TR i =amen #
Group ~C
s -¥|

(Long-answef Type Questions)
(€ -3wfa wvw)

Answer any three questions of the following :
freferftaa 4 @ fdt ot ot F 3w 3 2 10%3 = 30

What are the assumptions of ANOVA?
Distinguish between within and between ANOVA.

ga favetan €Y g w2 @ ? fydy | frgdta
g favaue & sy o a6t «

SH -90/4 (6) Contd.

https://'www . tmbuonline.com



8.

What do you mean by SPSS Software ? Describe
the applications of SPSS in Social Science.

SPSS |iRam | 19 41 goya € ¢ a9 g
SPSS & drgyavit i faaem 1 |

Achievement scores of the subjects instructed by
Lecture, Seminar and Discussion method in
each of the two groups. Compute two way
analysis of variance of the following data :

2 wgt F1 ww, Bfer w frd fafy @ fdfima
Tope o & e Iyt wrwies wrw R e | | T
A femrfl v =1 wfwem

intelligence Method

b1 b2 b3
Superior 8 12 1
Intelligence 7 14 13
a, 10 13 14
11 13 15
12 16 17
Inferior 10 9 10
Intelligence 12 8 11
a, " 11 12
14 10 M
15 12 13

SH -90/4 (7) ( Tum over)
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10. Find out the regression coefficient with the

following scores and obtain aregression equation

"of Yon X:

Prafafias wwisl & omuR WY # X 0 wfame
Ui WA i T O Wi wiE

Y:20 18 16-1513 1212 10 8 5

X:1216 1014 1210 9 7 7 2

3~ What do you mean by Omega Square (Q2) ?

Compute Omega Square for distribution having
three member of subgroup when :

ST-TFR (Q2) | 39 71 o € 7 A swwwg
et TRt fracor o et werr Y o R, e
SShetween=94.86; SS tﬁtal =172.20 ancd
MS within= 1.08.
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